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1. Introduction
In RAN4 #81, RAN4 had further discussion for test framework for CA PDSCH demodulation test for MMSE-IRC receiver and reached following agreements [1]. 

· Test scope and structure

· Test cases

· TM6/TM4

· TM9/TM9

· Test structure

· Multiple bandwidths with 2Rx or 4Rx with 5, 10, 15, 20MHz

· Detail simulation assumptions are going to be decided during email discussions.

· Number of CCs to be tested with IRC+CA is 2.

· Applicability rule: 

· Baseline: 
· 1st step take the maximum supported CCs excluding the 2Rx only CA config among all supported CA config

· 2nd step take the maximum supported number of 4Rx CCs among the selected CA config
· 3rd Select only 2 CCs among the selected CA config and apply IRC with 4Rx CC prioritized.
· 4th select the CA bandwidth combination with the maximum aggregated bandwidth among the selected CA config.
· Companies are encouraged to bring more input in case the baseline description is identified to be problematic during email discussions.
Simulation assumption [2] was agreed on RAN4 reflector based on proposal by rapporteur. In this contribution, we provide simulation results for CA PDSCH demodulation test for MMSE-IRC receiver and details on test applicability rule. 
2. Simulation results
Simulation was run based on simulation assumption in [2]. Figure 1 and 2 show simulation results for TM6 and TM9. Table 1 is summary of CINR requirement for 70% peak throughput with impairment margin. 
Table 1. CINR requirement with impairment margin

	
	2 Rx
	4 Rx

	
	TM6 FDD
	TM9 FDD
	TM6 TDD
	TM9 FDD
	TM6 FDD
	TM9 FDD
	TM6 TDD
	TM9 FDD

	5MHz
	0.9
	-0.2
	0.7
	-0.8
	-2.8
	-4.2
	-2.8
	-4.4

	10MHz
	0.7
	-0.1
	1.0
	-0.4
	-3.0
	-3.5
	-2.7
	-4.0

	15MHz
	0.6
	0.0
	0.7
	-0.6
	-3.0
	-3.2
	-2.9
	-4.6

	20MHz
	0.9
	-0.5
	1.1
	-0.9
	-3.0
	-3.4
	-2.7
	-4.5
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(a) FDD
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(b) TDD

Figure 1. TM6 simulation results
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(a) FDD
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(b) TDD

Figure 2. TM9 simulation results

3. Test applicability rules
It was agreed to specify CA PDSCH demodulation test for MMSE-IRC receiver for 2 CCs. Considering that UE can support 4 Rx in some CCs, we would like to propose following test applicability rule to select CA configuration and bandwidth combination. 
· if UE supports 4 Rx on 2 or more CCs

· Take all CA configuration with 2 or more 4 Rx CCs. 

· Select CA configurations with largest 2 CC aggregated bandwidth where both CCs support 4 Rx. 
· else if UE supports 4 Rx only on one CC, 
· Take all CA configuration with one 4 Rx CC.

· Select CA configurations with largest 2 CC aggregated bandwidth where one CC supports 4 Rx and the other CC supports 2 Rx. 
· else, i.e., if UE does not support 4 Rx on any CC

· Take all CA configuration supported by UE

· Select CA configurations with largest 2 CC aggregated bandwidth where both CCs support 2 Rx. 

4. Conclusions

In this contribution, we provided simulation results for CA PDSCH demodulation test for MMSE-IRC receiver. For test applicability rule, we have following proposal. 

Proposal 1. Adopt following test applicability rule. 
· if UE supports 4 Rx on 2 or more CCs

· Take all CA configuration with 2 or more 4 Rx CCs. 

· Select CA configurations with largest 2 CC aggregated bandwidth where both CCs support 4 Rx. 

· else if UE supports 4 Rx only on one CC, 

· Take all CA configuration with one 4 Rx CC.
· Select CA configurations with largest 2 CC aggregated bandwidth where one CC supports 4 Rx and the other CC supports 2 Rx. 

· else, i.e., if UE does not support 4 Rx on any CC

· Take all CA configuration supported by UE

· Select CA configurations with largest 2 CC aggregated bandwidth where both CCs support 2 Rx. 
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